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復興      1734A         海

起點，終點              

起點，終點

11：08

10：37

17分鐘

21 × 7 ÷ 6 = 153

153 ÷ 9 = 17

17 ÷ 7 = 2…3
答：2個星期又3天
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54分鐘
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(10) (17)(86400)

4時28分 = 268分

20100 ÷ 268 = 75

75 × 60 = 4500 答：1個小時印4500張
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( 2 )

19 × ( 1 ) = 19，      1 × ( 19 ) = 19       ( 2 )

15 × ( 1 ) = 15，      3 × ( 5 ) = 15         

5 × ( 3 ) = 15，      1 × ( 15 ) = 15         
( 4 )

21 × ( 1 ) = 21，      3 × ( 7 ) = 21

7 × ( 3 ) = 21，      1 × ( 21 ) = 21
( 4 )

17 × ( 1 ) = 17，      1 × ( 17 ) = 17       ( 2 )
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7、17、19

12=(1)×(12)

    =(12)×(1)

    =(2)×(6)

    =(6)×(2)

    =(3)×(4)

    =(4)×(3)

答：6種

13=(1)×(13)=(13)×(1) 答：2種

14=(1)×(14)=(14)×(1)=(2)×(7)=(7)×(2)     答：4種

29=(1)×(29)=(29)×(1) 答：2種

18=(1)×(18)=(18)×(1)=(2)×(9)=(9)×(2)=(3)×(6)=(6)×(3)

     答：6種
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自強      125         山

高雄     台北

9：26

8：36

8分鐘 2小時38分
(158分鐘)

( 60 × 44 ) +30 = 2670

2670 ÷ 6 = 445

445分 = 7時25分
答：7小時25分鐘
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(15) ( 4 )

(          )845
60

49分20秒 = 2960秒
23680 ÷ 2960 = 8
8 × 60 = 480

答：

(24) (1440) (86400)

(525)

(1166)

(63)

(          )19 26
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24

480 × 60 = 28800
  480捆毛線
  28800捆毛線
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( 2 )

1 × ( 27 ) = 27，      3 × ( 9 ) = 27       ( 4 )

27 × ( 1 ) = 27，      9 × ( 3 ) = 27

1 × ( 23 ) = 23，      23 × ( 1 ) = 23         ( 2 )

1 × ( 33 ) = 33，      3 × ( 11 ) = 33

33 × ( 1 ) = 33，      11 × ( 3 ) = 33
( 4 )

1 × ( 31 ) = 31，      31 × ( 1 ) = 31       ( 2 )

( 2 )        質數

13，23，31

答：4種

15= 1 × 15 = 15 × 1 = 3 × 5 = 5 × 3 答：4種

16 = 1 × 16 = 16 × 1 = 2 × 8 = 8 × 2 = 4 × 4     答：5種

31 = 31 × 1 = 1 × 31 答：2種

19 31

10 15 16

10=(1)×(10)

    =(10)×(1)

    =(2)×(5)

    =(5)×(2)

19 = 19 × 1 = 1 × 19 答：2種

質數

合數

96/01/27

2008/09


